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Problem 1 (5 Points)

In the circuit shown, Find:

a) The value of the load resistor R, that results in maximum power transfer.
b) The maximum power absorbed by R, .
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Problem 2 (5 Points)

a) Determine 1, and V, for the circuit shown below (Assume the Op Amp does

not saturate):
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Problem 3 (5 Points)

Problem 3

In the circuit shown, the switch remains open for a long time. It is suddenly
closed at t=0. Find:

a) V (t) for t<O0.
b) V.(t) for t>0.
c) Calculate the power absorbed by the capacitor at t =20 ms .
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